):0:0.9:9:9.9.9,9:9.0.9.9.9.9.9,9:0.:0.9.9.9.9,9.9:0.0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.0.0.9.9.9.9,9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXXXMS/2-6700403-00001XX

Function03 for No.9790
I=[y=3x"-30x+81] .3=[y=—(x-3)"+7] .5:[y:—3x2—4]}
2=[y=2(x=-3)Y-5] 4=[y==x"—10x-22] .6=[y=x"—-8x+10]
\ 30-

\

\

No]z{

\\ 25- /

\ /
\
\ /
\ /
10} /
/
/

/
. /
/! —
No2=(f(x)=x"+8x+15), ,No3=(f(x)=x"—6x—16)
Nod =(f(x)=x"—8x+16), ,NoS=(f(x)=-x"+49)
No6=(p=300-0.6x)

No7 N = 130 p
Pl = 6000 , P2 = 6600 , P3 = 7200 ,
B = 600 , M = 1614600
No8 p =10 , L =14 , A =169 , D =130
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Function03 for No.9888

No]:[.]:[y:3§x—1)2+l] 3=y
2=[y==x"-12x-36]
\ 30
=
25-
\ \\
\
\ 20_
A
_— /
N !
O\ /
\ !
O\ T
e

4=[y=-3x"+4]

S=[y=(x+3)7+7]
6=[y=2x"+8x+7]

(x+1)*=5] }

/1

/f

/
/]

"-\.____&‘-
\_‘-\

i \
10 8 6 N\ 4 2>/ 0 2 4 6 8 10
/
/ N /
\ e \
/
/ \ \
/ \ / \
/ \ [ \
/ 3\ \
X
/:\\ 15 \\
\ \
\ 1
/ / \ -20- \
/ \-25- \
—— |
J \_ \
No2=(f(x)=—x"+14x-49), ,No3=(f(x)=—x"—-2x+3)
Nod =(f(x)=x>+16x+63), ,No5=(f(x)=x"—-2x-48)
No6=(p=400-0.3x)
No7 : N = 110 ,
P1 = 6000 , P2 = 6600 , P3 = 7200 ,
: B = 600 , M = 1689600
No8 : P =4 , L =18 , A = 25 , D = 32
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Function03 for No.9926

d=[y=—x"-12x-39] 3=[y=3(x+7)+2] .5:[y:x2—10x+25]}

2=[y==2(x-17+1]  4=[y=="+2]  6=[y=-3x"-30x-71]
30

Nolz[

25+
20
15

10

/
f \\ \
/ / \ \
/ / \ \\
A5 \

/ / \ 1201
/ / A \
/ / \-25 \
/ =t \ \ |
| / / \ | \
No2=(f(x)=x"+10x+24), ,No3=(f(x)=—x"+4)
Nod = (f(x)=—-x"+8x—-15), ,No5=(f(x)=x"+2x+1)
No6=(p=600-0.1x)

No7 : N = 80 p
: P1 = 7000 , P2 = 7500 , P3 = 8000 ,
: B = 500 , M = 992000
No8 : P = 2 , L =6 , A =121 , D =22
VC] 19:9:9:9:9:9:9:9.:9:9.9:9:9.9.9.:9.9:0:9.9:0:9.0:0:9.9.9:0.0:0:9.9.9:9.0:0:9:9:0:9.0:0:9.9:0.9.0:0:9.9.9.9.9:0:9.9.0:0.0:¢
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXMS/2-6700403-00004XX
Function03 for No.10106

d=[y=3(x=3)-6] 3=[y=-3(x-7)"] .5=[y=x2—8x+12]}

NO]:[ 2 2 2
2=[y=x"-6x+12] A4=[y=-2x"-5] .6=[y=—(x—-6)"+5]

10

5,

-
/ .

No2=(f(x)=—x"+16x-64), ,No3=(f(x)=x"+2x-35)
Nod=(f(x)=x>=8x+7), ,Nos=(f(x)=—x"-2x+15)
No6=(p=700-0.1x)

No7 N = 100 p
: P1 = 4000 , P2 = 4500 , P3 = 5000 ,
: B = 500 , M = 1093500
No8 : P =11 , L =19 , A = 144 , D =132
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Function03 for No.10139

I=[y=-3(x+37+2] 3=[y=—+3] .5:[y=—x2—12x—41]}

NOI:{ 5 5 R
2=[y=2(x+1)"] A4=[y=(x+3)—-4] .6=[y=3x"+6x+1]

30+
\ /
\

/
\\ /
\ /

\ 20+ /

/) U \

No2=(f(x)=x"+14x+48), ,No3=(f(x)=—x"+4x—4)
Nod=(f(x)=x>+8x-9), ,No3=(f(x)=—-x"+8x)
No6=(p=200-0.5x)

No7 : N = 130 p
: P1 = 7000 , P2 = 7500 , P3 = 8000 ,
: B = 500 , M = 1751500
No8 : P = 8 , L =13 , A =25 , D =40
VS] 19:9:9:9:9:9:9:9.:9:9.9:9:9.9.9.:9.9:0:9.9:0:9.9:0:9.9.9:0.0:0:9.9.9:9.9:0:9.9:0:9.0:0:9:9:9.9.0:0:9.9.9.9.9:0:9.9.0:0.0:¢
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Function03 for No.10356

Nolz[

d=[y=2(x=5)"+6]
2=[y=-3(x=3)+5]

3=[y=—2x"+8x-15]

4=[y=—x"-4x+3]
30+

25+
20
15

10

S=[y=(x-1)]
b=[y=-x"—-6x—-7]

|

' ‘ // ‘ 0 \\ I// \\\ : '
-10 8 6 / 4 2 \ /2 4 \ 6 10
/// 27 ><\ \
/ //Kj\ \
/ | EEN \\
A5 \
// I} / \ \ 'l\

No2 = (f(x)=—x>-2x+35),
Nod =(f(x)=x"-6x+38),

No7 N 100 ’
P1 6000 , P2
B 500 , M
No8 P 11 , L

//
/-25f \\ Vo
/ Vo
[ e
,No3=(f(x)=x"-6x—-17)
,No5 =(f(x)=x>-10x +25)
No6 =(p=500-0.6x)

PSR

6500 , P3 = 7000 ,
1230000
14 , A = 64 , D =121
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXXXXXXMS/2-6700403-00007XX
Function03 for No.10366

{]:[y:2(x+4)2—6] 3=[y=—(x-4)-3] .5:[y:—2x2—4x—3]}
NO]: 2 2 2
2=[y==x"+4] A4=[y=-3(x+1)"] .6=[y=x"+12x+40]
\ 307,
\
\ /
25

-
—
——
e

-10-

£ \
No2=(f(x)=x"+12x+32), ,No3=(f(x)=x"+16x+64)
Nod =(f(x)=—x>+14x-45), ,No5=(f(x)=—x"-8x—15)
No6=(p=500-0.4x)

No7 : N = 80 p
: P1 = 4000 , P2 = 4200 , P3 = 4400 ,
: B = 200 , M = 475800
No8 : P =11 , L =21 , A =169 , D = 143
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Function03 for No.10706

I=[y=(x-6)-7] 3=[y=x"-8x+16] S=[y==2x"-1] }
2=[y=—(x+2)Y+6] 4=[y=2x"+24x+78] .6=[y=-3(x+3)+5]

30+
\ [\ /

No]z{

15 /
\ /
/
\
/ 100\ /

/
/
10 8 6 /4 2 0L N2 4 6 8 10
/ /_
/ =
/ / \\
/ / \

/ ] W
/ 10 N\
\
|\
\

ll

/ [
/ /
/

/ o)

/ / \
/ 257 \
/ / \
/ / \
No2=(f(x)=—x"-16x—-64), ,No3=(f(x)=x"—8x+12)
Nod=(f(x)=x>-2x-8), ,No5=(f(x)=-x"+6x—75)

No6=(p=700-0.7x)

No7 : N = 70 ’
: P1 = 6000 , P2 = 6300 , P3 = 6600 ,
: B = 300 , M = 571200
No8 : P = 2 , L =9 , A =16 , D =28
0
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXMS/2-6700403-00009XX
Function03 for No.10899

I=[y=—x"+2x+4] 3=[y=-3x"-4] .5:[y:2(x—2)2—5]}
2=[y=—(x+6)+2] 4=[y=x"-12x+36] .6=[y=3x+6x—1]

\ /

\ N \\ //

Nolz[

N\ /
N /
N /N S

\
f A \
No2=(f(x)==x"+8x—-16), ,No3=(f(x)=—x"+6x—-5)

Nod=(f(x)=—x"+2x), ,No5=(f(x)=x"—16)
No6=(p=100-0.7 x)

No7 : N = 90 ’
: P1 = 3000 , P2 = 3300 , P3 = 3600 ,
: B = 300 , M = 480000
No8 : P =9 , L =19 , A =100 , D =172
0
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Function03 for No.10907

Nolz[

d=[y=—(x-7)+7]
2=[y=-3x"=30x-77]

\\ 30+
254

3=[y=(x+3)-1]
A=[y=(x+2)+7]

/ !
71
=

\
[
\ /

| /
\ 20 /

S=[y=3x"+24x+48]
6=[y=2x"+3]

|

\\ \\ /”
NSRS
\ \\ 10/ //
\\ ‘\/Q_/// ///—q‘\
-10 8 6 \\4 2// : 0 2 4/ // 6 \\0
/\ \ < ' \
/ //

No2=(f(x)=x"+2x-28),
No4 = (f(x) =—x" +25),

No7 N = 110 ’
Pl = 3000 , P2
: B = 300 , M
No8 : P =11 , L

X [Page = 0010] XXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXKKKXXXXKKKXXXXKXKXXXKKKKXXKK
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\ /
\ o —
/

\ /

ey

|
,No3=(f(x)=—x"-2x-1)

,No5 = (f(x)=—x"+4)
No6 =(p=600-0.3x)

3300 , P3 = 3600 ,
623700
16 , A = 36 , D =33
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Function03 for No.10951

I=[y=2(x-1)"-17]

3=[y=-2(x+2)] .5:[y:x2+14x+46]}
2=[y=-x"+4x-3]

4=[y=x"+2x] .6=[y=3(x+5)-5]
30 /

Nol = [
\‘ \\
\
\ \
\

25+

I

/
/
/

;
’ 20_
/ /

/
/
/

/

ot
e

el
e
—

\ 15 /

10

1]

4

4

\\ / \\ /l
| | \ | \ ~/ | |
10 8 \6 4 2 ‘\0 / 2 /4 6 8
T\ \
A /
/ /\ \
/ \
/ -10-
/
/ \ \
/ [ 4
,f | \
/ 2\ \
II Il \
[ \ \
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No2=(f(x)=x"+2x-15), ,No3=(f(x)=—x"+2x)
Nod4=(f(x)=x>-4x-32), ,No5=(f(x)=-x"+10x-25)
No6=(p=400-0.2x)
No7 : N = 70 ,
: P1 = 3000 , P2 = 3300 , P3 = 3600 ,
: B = 300 , M = 443700
No8 : P = 10 L =21 A =121 , D = 90
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Function03 for No.11058

No]_[.lz[y=2x2+20x+55] 3=[y=—(x+3)—4] .5:[y:—2(x—5)2+7]}
2=[y=x"-8x+18] 4=[y=-3x"+12x-6] b=[y=—x"—1]
\ / 30+
\ /\ |
\ i /
\ // \ /
20 /
/ /
/
\ /I //
\ / 1577\ /
\\ /./ \\ /
\
\ / 0\ /
N \ /
NN
/o NL—
S s e S e [
10 8 6 4 2 )—7Q 2 \ 4 6 8 10
e \ \
s NG T
A
/oo N
/ / \ \\
\
5,
/74 \
] _ |
=20

/ / \\

/ 25- \\

| | |\

/ — \
No2=(f(x)=—x"+6x+7), ,No3=(f(x)=-x"—14x—48)
Nod4=(f(x)=x>-6x), ,No5=(f(x)=x"—16x+64)

No6=(p=700-0.5x)
No7 : N = 90 ,
: P1 = 4000 , P2 = 4500 , P3 = 5000 ,
: B = 500 , M = 936000
No8 : P =9 , L =19 , A = 121 , D = 90
1A D 9:0.0:9.0.0.0.0.0:0.0.0.0.0.0.0.0.0:0.0.0:0.0.0.0.0.0:0.0.0:0.0.0.0.0.0:0.0.0:0.0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:4
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Function03 for No.11139
d=[y=—(x+6)"=3]
2=[y=(x+4)"]

\ \

| \
\\ \\ 7

Nolz[

30+

3=[y==2(x+7)+6]
4=[y=x"+10x+27]

/

S=[y=2x"-2]
6=[y=-3x"+24x—-55]

|
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\\H_:,_// \ /
S N N e e
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N
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No2=(f(x)=x"+2x-63),
No4 = (f(x) =x" - 16),

,No3=(f(x)==x"+1)

,NoS=(fx)=x"—4x+4)

No6=(p=300-0.3x)

No7 N = 110 p
Pl = 4000 , P2 = 4400 , P3 = 4800 ,
: B = 400 , M = 800000
No8 : P =1 , L =5 , A =121 , D =17
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Function03 for No.11142

d=[y==x"-4x-9] 3=[y=(x+7)+6] .5:[y=—2(x—5)2+3]}
2=[y=-3x+30x-77] 4=[y=3x-1] .6=[y=x*+10x+22]

| , / 30 /
\ // 257 I/
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\\\ / /’
\ /
\\ / /o

N

No]z{
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\
1N

15 / / \
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No2=(f(x)=—x"+2x+8), ,No3=(f(x)=x"—14x+49)
Nod4=(f(x)=x>-10x+16), ,No5=(f(x)=x"+14x+48)
No6=(p=600-0.4x)

No7 : N = 100 ’
: P1 = 4000 , P2 = 4400 , P3 = 4800 ,
: B =400 , M = 774400
No8 : P = 6 , L =14 , A =9 , D = 30
1
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Function03 for No.11193

I=[y=-3x"-24x-42] 3=[y=(x—1)"+5] .5:[y:3(x—7)2]}
2=[y=—(x+4)Y-4] 4=[y=2x"+20x+57] .6=[y=x"—12x+41]

\ 30+

\

\ -

Nol = {

20

\
AN
5 _
10 8 6 4 2 0
Pt RN -5
e BN
/ N

25+ \
Il \
/ A
No2=(f(x)=—x"—4x—-4), ,No3=(f(x)=—x"+16)
Nod=(f(x)=x"-4), ,No5=(f(x)=—x"+6x-15)

No6=(p=400-0.2x)

No7 : N = 90 ’
: P1 = 7000 , P2 = 7500 , P3 = 8000 ,
: B = 500 , M = 1014000
No8 : P = 6 , L =16 , A = 144 , D =172
1
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Function03 for No.12037

N0]_{]=[y=—2(x+7)2—4] 3=[y==x"-10x-22] .5:[y:x2+8x+11]}
2=[y=—(x+3) +4] A=[y=2x"-6]  6=[y=3x"-12x+7]
\ \ 307 / [

/

/ \

:/ \ 257

No2=(f(x)=x"+8x-9), ,No3=(f(x)=—x"—-12x-32)
No4 = (f(x)=—x"+10x-25), ,No5=(flx)=x"—4)
No6=(p=300-0.6x)

No7 : N = 80 ’
: P1 = 4000 , P2 = 4400 , P3 = 4800 ,
: B =400 , M = 720000
No8 : P =1 , L =2 , A =16 , D =6
1
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Function03 for No.12111

I=[y=-3(x+1)"=6] 3=[y=x"+2]
2=[y=3(x+6)-2] 4=[y=-x"+4x-3]
\ I 307

\ // 20

15

— — 2_
NO]:{ S=[y=x 14x+44]}

6=[y=2x"+16x+32]

10- \

5,
\ /
N \ /
10 8 s/ 4 2 0/2‘ AN g8 / 1
N \ ///
A AN
~
Vs \
/ /-10 \
/
[/ \
/ \ \
I/ \ \

f 20- \ \

/] \ \

/ | 257 \ \
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No2=(f(x)=—=x"+12x-32), ,No3=(f(x)=—x"+6x-9)
No4=(f(x)=—x>-2x+35), ,No5=(f(x)=x"—6x-7)

No6=(p=700-0.5x)
No7 : N = 100 ,
: P1 = 3000 , P2 = 3300 , P3 = 3600 ,
: B = 300 , M = 637500
No8 : P =5 , L =18 , A = 64 , D = 50
1
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Function03 for No.12116

I=[y=(x—6Y—4] 3=[y=x"—14x+54] .5:[y:2x2—12x+18]}
2=[y=3x"+42] A4=[y=—(x-7)+2] .6=[y=-3x+6x-10]

e
A

A
o

/
\\ 10- I\
Y
/ \\
S

Nol = [

No2=(f(x)=-x"+2x—-1), ,No3=(f(x)=-x"—14x—48)
Nod=(f(x)=x>-2x), ,NoS=(f(x)=x"-6x-7)
No6=(p=300-0.2x)

No7 : N = 100 ’
: P1 = 6000 , P2 = 6500 , P3 = 7000 ,
: B = 500 , M = 1118000
No8 : P =9 , L =13 , A = 64 , D =27
1
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Function03 for No.12179

[ I=ly=(x-17]  3=[y=2x+20x+55] .S=[y=—+1] }
Nol = 5 ) ,
2=[y=-3x"-6x+1] 4=[y=-2(x+3)"-4] .6=[y=x"+4x+3]

\ 30+ I/

=i /
\ 20-

f{ / \_ \
/ // 2 \
/

/ \ \ \
[ 251} \
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| ] IR \
No2=(f(x)=x"+8x+16), ,No3=(f(x)=x"—8x+12)
Nod =(f(x)=—x>=8x), ,No5=(f(x)=—x"+6x+16)
No6=(p=200-0.5x)

No7 : N = 120 ’
: P1 = 4000 , P2 = 4200 , P3 = 4400 ,
: B = 200 , M = 811800
No8 : P =9 , L =17 , A =49 , D =172
1
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Function03 for No.12324

— —_— 2_ J—
No]:[.l—[y— 3x%— 18 x — 26]

3=[y=—(x-3Y-7]

S=[y==2(x-2)-6]

|

2=[y=3x"=36x+105] 4=[y=(x+2)Y-6] .6=[y=x"+6x+14]
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No2=(f(x)=x"-8x+12), ,No3=(f(x)=x"—8x+16)
Nod=(f(x)=—x>+12x-35), ,No5=(f(x)=x"+8x+12)

No6=(p=700-0.1x)
No7 N = 70 ,
P1 = 3000 , P2 = 3500 , P3 = 4000 ,
B = 500 , M = 672000
No8 Pp =7 , L =11 , A =16 , D = 63
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Function03 for No.13087

I=[y=—(x-2)"-2] 3=[p=-3(x-7)+2] S=[y=-2x"+1] }
2=[y=x"+8x+19] 4=[y=3(x+6)Y+3] .6=[y=x"—10x+25]

\ 30- /

\ 251/
20-

Nol = {
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T T T T T T T I//\\ T
10 8 6 4 2 /S0 N2 4 8 10
/

/ : LN N
i \ A \\
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fof i = \
/ / = \
| et \
[/ 257 \ \
[ \ : |
|/ _ \ \ \

No2=(f(x)=x"+12x+32), ,No3=(f{x)=x"—12x+32)
Nod=(f(x)=x"-14x+49), ,No5=(f(x)=—x"+6x-5)

No6 =(p=600-0.5x)

No7 N = 80 p
Pl = 6000 , P2 = 6300 , P3 = 6600 ,
B = 300 , M = 652800
No8 P =5 , L= 7 , A = 36 , D =45
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Function03 for No.13339

NO]_[.]:[y:—(x—3)2+6] 3=[y=3x+12x+17] .5:[y=(x+6)2+4]}
2=[y=-3(x-7y+1] 4=[y=-2x"+16x-39] .6=[y=-x"—8x—18]
/30*
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. /25—
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J--eee-i--20
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\\ // 15-
\\ /‘
\ / 10-

10 8 6 4 2 0 2 4 Y 8 10
P RN // 9' \\\
/ \ i \ \
/ \ \ \

/ I/ \\ / \\ ‘\‘

I ! e i
No2=(f(x)=x"+16x+64), ,No3=(f(x)=—x"-2x+15)
Nod=(f(x)=—x>+8x-12), ,No5=(f(x)=x"—4x-21)

No6=(p=200-0.4x)

No7 N =120 p
Pl = 6000 , P2 = 6500 , P3 = 7000 ,
B = 500 , M = 1456000
No8 P =9 , L =17 , A =16 , D =281
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Function03 for No.13340
d=[y=2(x-2)+1]

N01=|: )
2=[y=-2x"+16x-31]

\

\ 15

\\ 10,

3=[y=x"+6x+5]
4=[y=—x"—-10x-23]
\ 30- /

S=[y=—x"—1]
6=[y=-3(x+2)-6]

|

_)\‘Yg'\ //
/ \i\;j// \\
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EEEEDAAEEL
7 \ 101 \
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\ \
13- \
\ \
\
\
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No2 = (f(x)=—x"— 14 x — 49),
No4 = (f(x) ==+ 10 x — 24),

\\
A \

,No3=(f(x)=—x"-10x—16)
,No5=(f(x)=x"-6x-17)

No6=(p=100-0.7 x)

No7 N 100 ’
P1 3000 , P2 = 3300 , P3 =
B 300 , M = 560700

No8 P 5 , L =16 , A =
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49 , D =15
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Function03 for No.13350

Nol{ d=ly=x+1]  3=[y=—(x+2)+3] -5=[y=2(x+2>2—6]}
L2=[y=—(x+3Y-2] 4=[y=-3x"-6x-1] .6=[y=-2x"+24x-72]
30+
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-10 8 6 4 2 STy e 10
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/ g \/ 57 / \\\
_/ /p\mi \\\ // \
/oo Ny \
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/ / PEs e \
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No2=(f(x)=x"—4x+4), ,No3=(f(x)=x"+4x-21)
No4=(f(x)=-x"+2x), ,No5=(f(x)=x"+2x-24)
No6=(p=200-0.7x)

No7 N =120 p
Pl = 6000 , P2 = 6300 , P3 = 6600 ,
B = 300 , M = 1143300
No8 P =8 , L =13 , A =9 , D = 56
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Function03 for No.13361

d=[y=(x+3)+5] 3=[y=—2x"+8x-9] .5=[y:3x2—18x+20]}
2=[y=x"+1] 4=[y=2x"-24x+71] .6=[y=—(x+4)"=2]
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S e
51\
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AN
\_/’( /
10 8 6 4 2 0 \2 4/ 6 8 10
//"" ‘\\ \\ /
/ \ 97 \
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/ =257 \
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/ . X
No2=(fx)=—x"—-2x+8), ,No3=(f(x)=—x"—4x—4)
Nod =(f(x)=x"—4x-12), ,No5=(f(x)=—x"+10x-9)
No6 =(p=400-0.5x)

No7 N = 80 p
Pl = 6000 , P2 = 6500 , P3 = 7000 ,
B = 500 , M = 930000
No8 P =14 , L =6 , A = 64 , D =52
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Function03 for No.13396

No]_[.]z[y:—x2+4x+l] .3=[y=x2+10x+18] .5=[y=—(x+2)2—4]}
2=[y=3(x=-3)+2] A4=[y=2x"+4x] b=[y=-2x"—4]
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No2=(f(x)=x"—4x+3), ,No3=(f(x)=-x"+64)
Nod=(f(x)=—x*-12x-36), ,No5=(f(x)=x’-4x-5)
No6=(p=100-0.2x)
No7 : N = 130 ,
P1 = 5000 , P2 = 5500 , P3 = 6000 ,
B = 500 , M = 1728000
No8 P =4 , L =15 , A = 64 , D = 48
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Function03 for No.13406

{.Iz[y:—2x2—12x—25] 3=[y=2(x-1Y-1] .5:[y:x2—6x+11]}
Nol = 2 2 2
2=[y=—(x-5)"+1] d=[y=—(x—-4)"-2] O=[y=-3x"+5]
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No2=(f(x)=x"-81), ,No3=(f{x)=-x"—12x-35)
Nod=(f(x)=x"-6x—-16), ,NoS=(f(x)=x"+2x+1)
No6=(p=400-0.2x)
No7 N = 100 ,
P1 = 4000 , P2 = 4200 , P3 = 4400 ,
B = 200 , M = 584800
No8 P =2 , L =5 , A = 81 , D =16
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Function03 for No.13433

d=[y=2x"+4x+3] 3=[y=-3(x-5)-1] S=[y=—(x+1)"] }
2=[y=x"+3] 4=[y=x"-8x+14] .6=[y=3(x-1)*+3]
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No2=(f(x)=—x*-2x+8), ,No3=(f(x)=x"—8x+15)

Nod =(f(x)=—x>+16x—64), ,No5=(f(x)=-x"+49)
No6=(p=300-0.5x)

No7 N = 110 p
pl1 = 7000 , P2 = 7500 , P3 = 8000 ,
B = 500 , M = 1472000
No8 P =7 , L =17 , A =121 , D = 84
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Function03 for No.13473

I=[y=—(x+5Y+4] 3=[y=(x-2)-5] .5:[y:—2x2+20x—51]}
2=[y=3x"-24x+48] 4=[y=-3(x—-1)-6] 6=[y=x"+7]

N
\\\ 207 /

AW
AWA

\\\\\ 15- / / f
\

\\1_/// /

N01=|:

e,
o
o
--..____‘.‘-

[ \
[ \\

No2=(f(x)==x>-10x-21), ,No3=(f(x)=x"+10x+25)
Nod=(f(x)=—x"-14x-48), ,No5=(f(x)=x"+6x+3)
No6=(p=700-0.2x)

No7 N = 90 p
Pl = 4000 , P2 = 4500 , P3 = 5000 ,
B = 500 , M = 808500
No8 P =9 , L =17 , A =81 , D =63
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Function03 for No.13485

No]_[.]z[y:—(x—7)2—7] 3=[y=—x"-2x+4] S=[y=x"-7] }
2=[y=3(x-1+2] 4=[y=-2x"-24x-72] .6=[y=2x"-24x+66]
\ \ 30 \ { / f

No2=(f(x)=—x"+8x), ,No3=(f(x)=x"-6x+8)
Nod=(f(x)=x>+6x-7), ,No5=(f(x)=x"+10x+25)
No6=(p=500-0.7x)

No7 : N = 80 p
: P1 = 3000 , P2 = 3300 , P3 = 3600 ,
: B = 300 , M = 540000
No8 : P = 6 , L =17 , A = 144 , D = 66
K1 D:9:9:9:9:9.9:9:9.9:9.:9.0:9:9.9:9.9:0:9:9.9:9.9.0:0.9:9.9:9.0:0:9.9.9.9.0:0:9.9:0.9.0:0:9.9.9:9.0:0.9.9.0.9.9:0.:9.9.0:¢
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Function03 for No.14126

Noi [ I=[y=3x-1] 3=[y=-=2(x+3)+2] .5=[y:—x2+12x—31]}
2=[y=2x"+8x+3] 4=[y=x"+8x+22] .6=[y=(x+5)-5]

[
\ \ \ /

\ e / |

\ /

\ f II /

-10-

-157

=20+

=251

No2=(f(x)=x"-8x+15), ,No3=(f(x)=—x"+8x—12)
Nod =(f(x)=x"-2x-48), ,No5=(f(x)=—-x"—18x—-81)
No6=(p=200-0.7x)

No7 : N = 110 p
: P1 = 4000 , P2 = 4200 , P3 = 4400 ,
: B = 200 , M = 600000
No8 : P = 6 , L =14 , A =121 , D = 66
KN ID:9:9:9:9:9.9:9:9.9:9:9.0:9:9.9:9.9:0:9:9.9:9.9.0:0.9.9.9:9.9:0.9.9.0.9.0:0:9.9:0.9.0:0:9.9.9:9.0:0.9.9.0.9.9:0.:9.9.0:¢
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Function03 for No.14148

Nolz[

d=[y=x"-4x+4] 3=
2=[y==2(x-4)Y+5] 4

[y=-3x"-24x-45]  S5=[y=3x"+7]
=[y=-x"+8x—-14] .6=[y=—(x-3)-1]

30+ I /
H / /
Ve /
Vo / /
\ /

\\ ,/ /’

W10/ /

N/ /

|

o S

1 T \ T T
10 8 6 / 4 \ 2 0 / 6 8
/ 97 /

No7 : N =

: P1 =

: B =

No8 : P =

X [Page = 003

/ \ o |

\ s \

\
\
\

| I A

No2=(f(x)=x"-12x+35), ,No3=(f(x)=—x"-12x-236)

13
60
50
10
2]

Nod=(f(x)==x>+2x), ,No5=(f(x)=x"+6x-7)
No6=(p=300-0.6x)

0 ’
00 , P2 = 6500 , P3 = 7000 ,
0 , M = 1798500
, L =16 , A =25 , D = 80

),0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9.:9.0:9:9.0:9:9.0:9:9,0:9:9.0,9:9.0:9:9.0,0:9.0,9:9.0,9:9.0:9:9.0,9:0.0:¢
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXXXMS/2-6700403-00033XX
Function03 for No.14313

Nol = [

I=[y==x"=10x-21] 3=[y=3x"+6x+3] .S=[y=-3(x-2)"=2]
2=[y=—(x+7)-5] A4=[y=(x+2)Y+1] .6=[y=—2x"-8x-12]

\ 30+ i/, /

|

X

No7 : N =
: Pl =
: B =
No8 : P =
[Page = 003

\ \
\ \\
[\ \

No2=(f(x)=x"+8x+15), ,No3=(f(x)=—x"—6x+7)
Nod=(f(x)=x"-12x+36), ,No5S=(f(x)=—x"+4x+21)

No6=(p=300-0.2x)

130 p
6000 , P2 = 6300 , P3 = 6600 ,
300 , M = 1132800
4 , L =6 , A =25 , D = 24
KN D 9:9:9:9:9:9.:9:9:9:9:9.:9:0:9:9.9:9.9:0:9:9.9.9.9:0:9.9.0:9.9:0:9:9.9:0.9:0:9.9.0:9.0:0:9.9.0.0.9:0.:9.9.0:0.0:0.:9.9.0.4

10



):0:0.9:9:9.9.9,9:9.0.9.9.9.9.9,9:0.:0.9.9.9.9,9.9:0.0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.0.0.9.9.9.9,9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXXXXXXMS/2-6700403-00034XX
Function03 for No.14370

d=[y=—(x-7P%-11 3=[y=(x+3)*-2] S=[y=3x*+7] }
2=[y==2x"-16x-33] 4=[y=x"+8x+16] .6=[y=2(x-3)"=7]

|\ LR
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/
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\ A \ i //
\\ \ 201 / //,r
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\ \\ 15/ :
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/ \\-20—
/ \

/ 35

/ \

No2=(f(x)=x*—12x+32), ,No3=(f(x)=x’—4x+4)
Nod =(f(x)=—x"+4), ,No5=(f(x)=x"-2x-35)
No6 =(p=600-0.7 x)

No7 : N = 110 p
: P1 = 6000 , P2 = 6500 , P3 = 7000 ,
: B = 500 , M = 1212500
No8 : P =7 , L =8 , A =9 , D = 56
KA D 9:0:9:9:9.9:9:9.9:9:9.0:9:9.9:0.9:0:9:9.9.9.9.0:0.9.0.9:9.0:0:9.9.9.9.0:0:9.9:0.9.0:0:9.9.9.9.0:0.9.0.0:0.9:0.:9.9.0:¢
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXMS/2-6700403-00035XX
Function03 for No.14377

— — 2_
No]:[.l—[y—3x 122x+5]
—[y=-24"-5]

3=[y= x2— 14 x +44]

=[y= X —14x+55]

\\
\\

:[y:—(x+5)2+3]}
=[y=2(x+5)"-7]

10

25- ‘\

\

No7 : N = 80 p
: P1 = 5000 , P2 = 5500 , P3 = 6000 ,
: B = 500 , M = 770500
No8 : P =1 , L =9 , A =81 , D =3
[Page = 0035] XXXXXXXXXXXXXXXXXXXXXKXXXXKXKXXXXKXKXKXXXKKKXKXXXKXKXXXKKKKXXKKKX

X

No2=(f(x)=x"+4x+4),
Nod=(f(x)=x"+10x+21),

,No3 =(f(x)=—x>-10x—24)

,No35 =(f(x)=x"-2x-15)

No6=(p=200-0.7x)
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Function03 for No.14430

No]_[.lz[yz—(x+5)2+6] 3=[y=x"+8x+16] .5:[y:x2—6x+12]}
l2=[y=3(x+1)Y=3] 4=[y=-2x"+2] .6=[y=-3(x-6)-2]

\\ 301 /
\ 25- /’

/
204 /

/ -20‘\ \X \\
/ / A A \
/ \
/ BT U \
No2=(f(x)=—x"+8x+9), ,No3=(f(x)=x"-2x-3)

Nod=(f(x)=—x"-16x—-64), ,No5=(f(x)=—x"+10x—24)
No6=(p=300-0.1x)

No7 : N = 100 p
: P1 = 4000 , P2 = 4400 , P3 = 4800 ,
: B = 400 , M = 720000
No8 : P =11 , L =16 , A = 36 , D = 88
X [Page = 0036] XXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXKKKXKXXXKKKXXXXKXKXXXKKKKXXKK
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Function03 for No.14432

No]_[.]z[y:x2+8x+12] 3=[y=3(x-1)"-6] .5=[y=—(x—3)2+3]}
L2=[y=-3(x+7)] 4=[y=-x—-12x-32] .6=[y=-2x"—20x—44]
30+
25+
20
15
10

0\ |
2y AT
2L SN e
-10 ‘8 2 2 4 6 8 10
/ /N ) / \
[\ \ / \
/ \ 51/ \

No2=(f(x)=—x"+8x—15), ,No3=(flx)=x"-1)
Nod=(f(x)==x"+6x+27), ,No5=(f(x)=x"+16x+64)
No6 =(p=400-0.7 x)

No7 : N = 90 p
: P1 = 6000 , P2 = 6300 , P3 = 6600 ,
: B = 300 , M = 787500
No8 : P =1 , L= 7 , A =49 , D =3
KN A D 9:9:9:9:9.0:9:9.9.9:9.0:9.9.9:9.9.0:9:9.9.9.9.0:0.9.9.9:9.0:0:9.9.9.9.0:0:9.9:0.9.0:0:9.9.9:9.9:0.9.0.0.0.9:0.:9.9.0:¢
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